#### Fort Bend County Tabulation Bid 16-075 Construction of Spring Green, Segment 2

#### Recommendation 05/3/16: D&J Construction, Inc. Funding: Engineering, Mobility

Company	Bid Price	Completion Time in Calendar Days	Form 1295
D&J Construction, Inc. Richmond	\$391,330.25	60 days	Yes
Allgood Construction Co., Inc. Richmond	\$397,413.57	60 days	
Rodriguez Construction Group	\$433,829.17	60 days	
Harris Construction	\$445,113.50	Not stated	
Triple B Services	\$458,262.19	60 days	
John Reed and Company	\$748,231.00	60 days	
Hassell Construction	Disqualified due to past accessed on Golfview, P	performance; liquidated hase II, Bid Price \$575,7	U



Richard W. Stolleis, P.E. County Engineer

### MEMORANDUM

May 03, 2016

## TO: Members of the Commissioners Court RE: Spring Green Blvd – Segment 2, Project 13320

The total project cost is \$445,527.25. The available funding allocated to Spring Green Blvd – Segment 2 is currently \$0. \$445,527.25 from Gaston Road – Segment 2, Project 13310 will be utilized to complete this project.

Image         Measure         Measure         Image								idder 1 struction, Inc.	Allgo	Bidde d Const	ler 2 struction Co.	Bidder 3 Rodriguez Construction Group				Bidder 4 Constr	4 ruction
Inter-No.         Spice: No.         Rem-Decorption         Unit         Unit Price         Total In Figures	Roadway	Site Preparation	n and Earthwork Items														
Ideam         Account with the Drawing and Spectrations, and Spectrati					Unit Quantity	Un	nit Price	Total in Figures	Unit Price	٦	Total in Figures	Unit Price	Total in	n Figures	Unit Price	To	tal in Figures
4         100, 30         100, 31, 32, 30, 30, 31, 32, 30, 31, 32, 30, 30, 30, 30, 30, 30, 30, 30, 30, 30	1	Drawings		EA	1	\$	1,100.00	\$ 1,100.00	\$ 747.	io \$	747.50	\$ 669.50	\$	669.50	\$ 825.00	\$	825
3       1.10       Concrete L. Access Drive at L. Station 3+40 (brinkling)       57       47       5       5       5       5       5       7	2	102, 562		AC	2.7	\$	1,000.00	\$ 2,700.00	\$1.	.5 \$	3.11	\$ 9,785.00	\$	26,419.50	\$ 1,500.00	\$	4,05
4       1.10       the bravings and Specifications.       Cr       2,00       5       0,0000       5       2,23       5       5,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,0000       5       2,20       5       1,00000       5	3	104		SY	47	\$	6.50	\$ 305.50	\$ 11.	io \$	540.50	\$ 15.45	\$	726.15	\$ 18.25	\$	85
3         Dearwines         Only II Directed by Engineer, Stockple Location on Sheet         CV         5000         5         1.00000         5         1.00000         5         1.00000         5         1.00000         5         1.00000         5         1.00000         5         1.00000         5         1.00000         5         1.00000         5         1.00000         5         1.000000         5         1.000000         5         1.000000         5         1.00000000000         5         1.000000000000000000000000000000000000	4	110		CY	2,300	\$	4.00	\$ 9,200.00	\$ 2.	3\$	5,819.00	\$ 8.24	\$	18,952.00	\$ 2.00	\$	4,60
b         1142         And the function of the functic of the function of the functic of the function of the function	5	DRAWINGS		CY	500	\$	3.00	\$ 1,500.00	\$2.	io \$	1,150.00	\$ 2.06	\$	1,030.00	\$ 1.50	\$	75
Rary Sub.         Vertaily Adjust Satisfies V. Assembly Including adjustent Vale Bace (Morf Interect Dy Engineer)         EA         S         S         33000         S         11.7500         S         15.00         S         27.50         S         1.287.50         S	6	132	Embankment (Compacted Fill), Complete and in Place	CY	1800	Ś	2.00	\$ 3,600.00	\$     2.	i0 \$	4,140.00	\$ 3.09	\$	5,562.00	\$ 2.00	\$	3,60
8       973       Vertially Adjust Som Manhole Rith to Finished Grade (hoty of Divected by Engineer)       EA       5       322.00       \$       1.62.00       \$       1.50.00       \$       750.00       \$       1.82.70       \$       643.75       \$       500.00       \$       1.02.00       \$       7.800.00	7	Katy Stds.		EA	5	\$		\$ 1,750.00			575.00		\$	1,287.50		\$	2,87
9         Kary Permits         5         Kary Permits         5         7,800.00         5         7,800.00         5         7,800.00         5         7,800.00         5         8,566.45         5         11,425.00         5         1,12           10         DRAWINGS         Gontraction Stabiling. In Accordance with the Drawings and Specifications         LS         1         5         2,500.00         5         2,800.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         4,800.00         5         4,025.00         5         2,884.00         5         2,884.00         5         4,800.00         5         4,025.00         5         2,884.00         5         2,884.00         5         4,800.00         5         4,025.00         5         2,884.00         5         4,800.00         5         4,025.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,884.00         5         2,88	8	473	Vertically Adjust Storm Manhole Rim to Finished Grade	EA	5	\$					575.00			643.75		\$	2,50
Interpret No.         Specifications         Lis         1         S         2,500.00         S         4,025.00         S         2,884.00         S         2,884.00         S         4,500.00         S         4,025.00         S         2,884.00         S         2,884.00         S         4,500.00         S         4,025.00         S         2,884.00         S         4,500.00         S         4,500.00         S         4,605.00         S         2,884.00         S         2,884.00         S         4,500.00         S         2,884.00         S         4,500.00         S         4,600.00         S         2,884.00         S         4,600.00         S         4,600.00         S         2,884.00         S         2,884.00         S         4,600.00         S         2,875.11         S         6,6680.85         Unit Price         Total In Figures         Unit Price         Total In Fi	9	Katy Permits	2% Non-Refundable Katy Inspections Fee Due to Katy			Ś					7,800.00			8,506.45		Ś	11,42
Subtotal: Roadway Site Preparations and Earthwork         \$ 32,780.50         \$ 25,375.11         \$ 66,680.85         \$ 35,9           Paving Items         Item Description         Unit Measure         Unit Price         Total in Figures				-			-,	,	. ,	-		,			. ,		
Paving Items         Paving Item No.         Spec. No.         Item Description         Unit Measure         Unit Price         Total in Figures         Unit Pric	10	DRAWINGS		LS	1	\$	2,500.00	\$ 2,500.00	\$ 4,025.	\$ 00	4,025.00	\$ 2,884.00	\$	2,884.00	\$ 4,500.00	\$	4,50
11       200, 205, 220       Lime Stabilized Subgrade at 8-in Depth, Complete in Place, in Accordance with the Drawings and Specifications.       SY       6,500       \$       3.00       \$       19,500.00       \$       2.53       \$       16,445.00       \$       2.47       \$       16,055.00       \$       2.25       \$       14,         12       Hydrated Lime (Type A) for Stabilization - Estimated at 45 lig/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications.       TON       147       \$       175.00       \$       25,725.00       \$       178.25       \$       26,020.75       \$       169.95       \$       24,982.65       \$       200.00       \$       29,         360       7" Reinforced Corcrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place       SY       6,650       \$       36.50       \$       220,825.00       \$       43.13       \$       260,936.50       \$       39,02       \$       236,071.00       \$       39,75       \$       240,000       \$       14,000       \$       152.21       \$       5,479.56       \$       247.20       \$       8,899.20       \$       400,00       \$       14,000       \$ <t< th=""><th>-</th><th>Subtotal: F</th><th>Specifications</th><th>LS</th><th>1</th><th>\$</th><th>2,500.00</th><th></th><th>\$ 4,025.</th><th></th><th></th><th>\$ 2,884.00</th><th>•</th><th></th><th>\$ 4,500.00</th><th></th><th>4,50 <b>35,98</b>2</th></t<>	-	Subtotal: F	Specifications	LS	1	\$	2,500.00		\$ 4,025.			\$ 2,884.00	•		\$ 4,500.00		4,50 <b>35,98</b> 2
hl/5Y application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, in Accordance with the Drawings and Specifications       TON       147       \$       175.0       \$       175.0       \$       175.0       \$       176.0       \$       175.0       \$       176.0       \$       176.0       \$       175.0       \$       176.0       \$	Paving Ite	Subtotal: F	Specifications Roadway Site Preparations and Earthwork	Unit				\$ 32,780.50		\$	25,375.11		\$	66,680.85		\$	35,982
360       7" Reinforced Concrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place       SY       6,050       \$       36.0       \$       220,825.00       \$       43.13       \$       260,936.50       \$       39.02       \$       236,071.00       \$       39.75       \$       240,0         14       DRAWINGS       Construct Pipe Line Seal Slab for existing DOW Pipe Line Crossing       LF       36       \$       280.00       \$       10,080.00       \$       152.21       \$       5,479.56       \$       247.20       \$       8,899.20       \$       400.00       \$       14,         15       DRAWINGS       Construct Pipe Line Seal Slab for existing Kinder Morgan Pipe Line Crossing (Additional KM Insurance Coverage to be Incidental to this itemsee Page 3 of Construction Plans)       LF       72       \$       300.00       \$       152.21       \$       10,959.12       \$       272.95       \$       400.00       \$       28,000         16       UF       3,825       \$       300.00       \$       152.21       \$       10,959.12       \$       272.95       \$       400.00       \$       28,000       \$       24,600.00       \$       28,000.00       \$       12,431.25       \$	Paving Iten Item No.	Subtotal: F	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place,	Unit Measure	Unit Quantity		nit Price	\$ 32,780.50 Total in Figures	Unit Price	\$	25,375.11 Total in Figures	Unit Price	\$ Total in	66,680.85	Unit Price	\$ Tot	<b>35,98</b> tal in Figure
13       Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place       SY       6,050       \$       36.50       \$       220,825.00       \$       43.13       \$       260,936.50       \$       236,071.00       \$       39.75       \$       240,0         14       DRAWINGS       Construct Pipe Line Seal Slab for existing DOW Pipe Line Crossing       LF       36       \$       280.00       \$       10,080.00       \$       152.21       \$       5,479.56       \$       247.20       \$       8,899.20       \$       400.00       \$       14,         15       DRAWINGS       Construct Pipe Line Seal Slab for existing DOW Pipe Line Crossing       LF       36.7       \$       280.00       \$       10,080.00       \$       152.21       \$       5,479.56       \$       247.20       \$       8,899.20       \$       400.00       \$       14,         16       DRAWINGS       Construct Pipe Line Seal Slab for existing Minder Morgan Pipe Line Crossings (Additional KM Insurance Coverage to be Incidental to this itemsee Page 3 of Construction Piae.       F       7       \$       300.00       \$       12,410.00       \$       12,910.00       \$       12,910.00       \$       247.90       \$       9,967.20       \$       247.90	Paving Iten Item No. 11	Subtotal: F ms Spec. No. 200, 205, 220 221	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In	Unit Measure	Unit Quantity		nit Price	\$ 32,780.50 Total in Figures	Unit Price	\$	25,375.11 Total in Figures	Unit Price	\$ Total in	66,680.85	Unit Price	\$ Tot	35,982
14       DRAWINGS       Construct Pipe Line Seal Slab for existing DOW Pipe Line Crossing       LF       36       \$       28.000       \$       10.08000       \$       152.21       \$       5.479.56       \$       24.7.20       \$       8.899.20       \$       400.00       \$       14, 14,         15       DRAWINGS       Construct Pipe Line Seal Slab for existing Kinder Morgan Pipe Line Crossing       LF       36       \$       28.000       \$       10,080.00       \$       152.21       \$       5,479.56       \$       247.20       \$       8.899.20       \$       400.00       \$       14,         15       DRAWINGS       Construct Pipe Line Seal Slab for existing Kinder Morgan Pipe Line Crossings (Additional KM Insurance Coverage to be Incidental to this itemsee Page 3 of Construction Plans)       LF       72       \$       300.00       \$       152.21       \$       10,959.12       \$       272.95       \$       19,652.40       \$       400.00       \$       28.8         16         LF       3,825       \$       3.2,5       \$       12,431.25       \$       9,677.25       \$       2.5.8       \$       9,868.50       \$       2.9.5       \$       11,         16 <td< td=""><td>Paving Iten Item No. 11</td><td>Subtotal: f ms Spec. No. 200, 205, 220 221</td><td>Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications.</td><td>Unit Measure SY</td><td>Unit Quantity 6,500</td><td></td><td>hit Price</td><td>\$ 32,780.50 Total in Figures \$ 19,500.00</td><td>Unit Price</td><td>33 \$</td><td>25,375.11 Total in Figures 16,445.00</td><td>Unit Price</td><td>\$ Total in \$</td><td>66,680.85</td><td>Unit Price</td><td>\$ To \$</td><td><b>35,98</b> tal in Figure 14,6:</td></td<>	Paving Iten Item No. 11	Subtotal: f ms Spec. No. 200, 205, 220 221	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications.	Unit Measure SY	Unit Quantity 6,500		hit Price	\$ 32,780.50 Total in Figures \$ 19,500.00	Unit Price	33 \$	25,375.11 Total in Figures 16,445.00	Unit Price	\$ Total in \$	66,680.85	Unit Price	\$ To \$	<b>35,98</b> tal in Figure 14,6:
15       DRAWINGS       Construct Pipe Line Seal Slab for existing Kinder Morgan Pipe Line Crossings (Additional KM Insurance Coverage to be Incidental to this itemsee Page 3 of Construction Plans)       LF       72       \$ 300.00       \$ 21,600.00       \$ 152.21       \$ 10,959.12       \$ 272.95       \$ 19,652.40       \$ 400.00       \$ 28, 28,         360       Concrete Curbs 6", Complete in Place, In Accordance with the Drawings and Specifications.       LF       3,825       \$ 32,55       \$ 12,431.25       \$ 25,53       \$ 9,677.25       \$ 2,58       \$ 9,868.50       \$ 2,95       \$ 11,	Paving Iter Item No. 11 12	Subtotal: F ms Spec. No. 200, 205, 220 221 360	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications 7" Reinforced Concrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings	Unit Measure SY TON	Unit Quantity 6,500 147		hit Price 3.00 175.00	\$ 32,780.50 Total in Figures \$ 19,500.00 \$ 25,725.00	Unit Price \$ 2. \$ 178.	33 \$ 25 \$	25,375.11 Total in Figures 16,445.00 26,202.75	Unit Price \$ 2.47 \$ 169.95	\$ Total in \$ \$	66,680.85 1 Figures 16,055.00 24,982.65	Unit Price \$ 2.25 \$ 200.00	\$ To' \$	35,98 tal in Figur 14,6 29,4
360       Concrete Curbs 6", Complete in Place, In Accordance with the Drawings and Specifications.       LF       3,825       \$ 3.25       \$ 12,431.25       \$ 2.53       \$ 9,677.25       \$ 2.58       \$ 9,868.50       \$ 2.95       \$ 11,	Paving Iter tem No. 11 12 13	Subtotal: F ms Spec. No. 200, 205, 220 221 360	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications 7" Reinforced Concrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place Construct Pipe Line Seal Slab for existing DOW Pipe Line	Unit Measure SY TON	Unit Quantity 6,500 147 6,050		175.00 36.50	\$         32,780.50           Total in Figures         \$           \$         19,500.00           \$         25,725.00           \$         220,825.00	Unit Price \$ 2. \$ 178. \$ 43.	13 \$ 13 \$ 15 \$ 33 \$	25,375.11 Total in Figures 16,445.00 26,202.75 260,936.50	Unit Price \$ 2.47 \$ 169.95 \$ 39.02	s Total in \$ \$ \$	66,680.85 n Figures 16,055.00 24,982.65 236,071.00	Unit Price \$ 2.25 \$ 200.00 \$ 39.75	\$ To: \$ \$	35,98 tal in Figur 14,6 29,4 240,4
16 LF 3,825 \$ 3.25 \$ 12,431.25 \$ 2.53 \$ 9,677.25 \$ 2.58 \$ 9,868.50 \$ 2.95 \$ 11,	Paving Itel Item No. 11 12 12 13 14	Subtotal: f           Spec. No.           200, 205, 220           221           360           DRAWINGS           DRAWINGS	Specifications Roadway Site Preparations and Earthwork  Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications.  Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications  7" Reinforced Concrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place Construct Pipe Line Seal Slab for existing DOW Pipe Line Crossing Construct Pipe Line Seal Slab for existing Kinder Morgan Pipe Line Crossing (Additional KM Insurance Coverage to	Unit Measure SY TON SY LF	Unit Quantity 6,500 147 6,050 36	Un \$ \$ \$	175.00 36.50 280.00	\$         32,780.50           Total in Figures         \$           \$         19,500.00           \$         25,725.00           \$         220,825.00           \$         10,080.00	Unit Price \$ 2. \$ 178. \$ 43. \$ 152.	3 S 3 S 3 S 11 S	25,375.11 Total in Figures 16,445.00 26,202.75 260,936.50 5,479.56	Unit Price \$ 2.47 \$ 169.95 \$ 39.02 \$ 247.20	\$ Total in \$ \$ \$ \$ \$ \$	66,680.85 h Figures 16,055.00 24,982.65 236,071.00 8,899.20	Unit Price \$ 2.25 \$ 200.00 \$ 39.75 \$ 400.00	\$ To' \$ \$ \$ \$	35,98 tal in Figur 14,6 29,4 240,4 14,4
	Paving Itel Item No. 11 12 12 13 14	Subtotal: F           spec. No.           200, 205, 220           221           221           360           DRAWINGS           DRAWINGS           360	Specifications Roadway Site Preparations and Earthwork  Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications.  Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications  7" Reinforced Concrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place Construct Pipe Line Seal Slab for existing DOW Pipe Line Crossing Construct Pipe Line Seal Slab for existing Kinder Morgan Pipe Line Crossings (Additional KM Insurance Coverage to be Incidental to this itemsee Page 3 of Construction Plans) Concrete Curbs 6", Complete in Place, In Accordance with	Unit Measure SY TON SY LF	Unit Quantity 6,500 147 6,050 36	Un \$ \$ \$	175.00 36.50 280.00	\$         32,780.50           Total in Figures         \$           \$         19,500.00           \$         25,725.00           \$         220,825.00           \$         10,080.00	Unit Price \$ 2. \$ 178. \$ 43. \$ 152.	3 S 3 S 3 S 11 S	25,375.11 Total in Figures 16,445.00 26,202.75 260,936.50 5,479.56	Unit Price \$ 2.47 \$ 169.95 \$ 39.02 \$ 247.20	\$ Total in \$ \$ \$ \$ \$ \$	66,680.85 h Figures 16,055.00 24,982.65 236,071.00 8,899.20	Unit Price \$ 2.25 \$ 200.00 \$ 39.75 \$ 400.00	\$ To' \$ \$ \$ \$	<b>35,98</b> tal in Figure

					Bidder 1     Bidder 2       D&J Construction, Inc.     Allgood Construction Co.				Bidder 3 Construction Group			Bidder 4 Construction			
C. Drain	age Items														
Item No.	Spec. No.	Item Description	Unit Measure	Unit Quantity	U	nit Price	Total in Figures		Unit Price	Total in Figures	Unit Price	Total in Figures	U	nit Price	Total in Figures
17	429	Install and Maintain Trench Safety System (From 5 to 10 feet), Complete in Place, In Accordance with the Drawings and Specifications.	LF	49	\$	1.50	\$ 73.50	) ș	0.12	\$ 5.88	\$ 1.03	\$ 50.47	7 \$	5.00	\$ 245.00
18	460	Furnish and Install 24" RCP Storm Sewer (C-76) (Class III) at all depths, Bedding & Backfill including min. 12-in. CSS around all pipe, Complete in Place, In Accordance with the Drawings and Specifications.	LF	49	Ş	70.00	\$ 3,430.00	) Ş	63.25	\$ 3,099.25	\$ 61.80	\$ 3,028.20	) \$	175.00	\$ 8,575.00
19		Furnish and Install Standard Depth Manhole on Existing 30" RCP Storm Sewer, Complete in Place, In Accordance with the Drawings and Specifications.	EA	1	ŝ	2,650.00	\$ 2,650.00	) \$	2,501.25	\$ 2,501.25	\$ 2,884.00	\$ 2,884.00	) \$	2,850.00	\$ 2,850.00
20		Replace Type 'E' Inlet Top on Existing Manhole with a Standard Rim Top (Only if Field Ordered by Engineer), Complete in Place, In Accordance with the Drawings and Specifications	EA	2	ŝ	525.00	\$ 1,050.00	) Ś	1,145.00	\$ 2,290.00	\$ 1,030.00	\$ 2,060.00	) s	975.00	\$ 1,950.00
21	472	Furnish and Install Stage I - Standard Type 'H-2' Inlet on Existing 24" RCP Storm Lead, Backill including CSS around all of Structure, Complete in Place, In Accordance with the Drawings and Specifications.	EA	4	\$	2,100.00	\$ 8,400.00	) \$	1,144.25	\$ 4,577.00	\$ 1,596.50	\$ 6,386.00	) \$	1,050.00	\$ 4,200.00
22	472	Furnish and Install Stage I - Standard Type 'H-2' Inlet, Backfill with CSS around all of Structure, Complete in Place, In Accordance with the Drawings and Specifications.	EA	1		1900	\$ 1,900.00	) \$	1,029.25	\$ 1,029.25	\$ 927.00	\$ 927.00	) ș	1,050.00	\$ 1,050.00
23	472	Furnish and Install Stage II - Standard Type 'H-2' Inlet, Bacfill with CSS around all of Structure, Complete in Place, In Accordance with the Drawings and Specifications.	EA	5	Ś	425.00	\$ 2,125.00	ŝ	·					1,100.00	
24	DRAWINGS	Plug for 24" RCP Storm Sewer	EA	1	\$	300.00			1,025.25				-	200.00	
		Subtotal: Drainage Items				-	\$ 19,928.50	Ť		\$ 18,650.03		\$ 20,176.67	1		\$ 24,570.00

D. SWPPP ITE	MS																
Item No.	Spec. No.	Item Description	Unit	Unit Quantity	U	Init Price	Total in Figures	l	Unit Price	Total in Figures		Unit Price	Tota	al in Figures	Unit Price	To	otal in Figures
			Measure														
25	162	Sodding for Erosion Control (One Continuous Row of Bermuda Cut Sod Behind all Curb, 18" minimum depth), Complete in Place, In Accordance with the Drawings and Soecifications.		2.025		4.00	ć			¢ 0.000 7			ć	0.000 50	<b>A 150</b>	ć	F 707 F
			LF	3,825	Ş	1.00	\$ 3,825.00	Ş	2.59	\$ 9,906.7	Ş	2.58	Ş	9,868.50	\$ 1.50	Ş	5,737.50
26	165	Hydro-mulch Seeding, Complete in Place, In Accordance with the Drawings and Specifications.	AC	2.0	\$	1,700.00	\$ 3,400.00	\$	1,466.25	\$ 2,932.5	\$	1,442.00	\$	2,884.00	\$ 2,800.00	\$	5,600.00
27	713	Reinforced Filter Fabric Barrier, Complete in Place, In Accordance with the Drawings and Specifications.	LF	1,950	\$	2.00	\$ 3,900.00	\$	1.44	\$ 2,808.0	\$	1.29	\$	2,515.50	\$ 1.40	\$	2,730.00
28	719	Inlet Protection Barrier (Stage 1, With Reinforced Filter Fabric Fence), Complete in Place, In Accordance with the Drawings and Specifications.	EA	10	\$	100.00	\$ 1,000.00	\$	51.75	\$ 517.50	D \$	46.35	\$	463.50	\$ 35.00	\$	350.00
29	724	Stabilized Construction Access (Type 1 - Rock), Complete in Place, In Accordance with the Drawings and Specifications.	SY	75	\$	24.00	\$ 1,800.00	\$	1.00	\$ 75.0	D \$	15.45	\$	1,158.75	\$ 30.00	\$	2,250.00
30	741	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags), Complete in Place, In Accordance with the Drawings and Specifications.	EA	10	\$	50.00	\$ 500.00	\$	17.25	\$ 172.5	) \$	51.50	\$	515.00	\$ 50.00	\$	500.00
31	751	TPDES General Permit No. TXR150000; Notice of Intent (NOI) Application Fee (Contractor's NOI)	EA	1	\$	1,000.00	\$ 1,000.00	\$	517.50	\$ 517.50	\$	360.50	\$	360.50	\$ 750.00	\$	750.00
		Subtotal: SWPPP Items					\$ 15,425.00			\$ 16,929.75			\$	17,765.75		\$	17,917.50

							idder 1 struction, Inc.			Bidder Constru	2 uction Co.	F		Bidder 3 Construe	3 ction Group			Bidder Const	4 ruction
Traffic Cor	ntrol Items																		
Item No.	Spec. No.	Item Description	Unit Measure	Unit Quantity	' L	Jnit Price	Total in Figures		Unit Price	То	otal in Figures	Ur	nit Price	Tot	tal in Figures	l	Unit Price	Тс	otal in Figures
32	500	Remove and Dispose Existing Type III Barricade	EA	3	\$	200.00	\$ 600	00 \$	115.00	\$	345.00	\$	51.50	\$	154.50	\$	150.00	\$	450.
33	624	Aluminum Signs (Ground Mounted)(High Intensity Sheeting) - Furnish & Install	EA	1.0	\$	300.00	\$ 300	00 \$	402.50	\$	402.50	\$	437.75	\$	437.75	\$	600.00	\$	600
34	670	Type III Mobile Barricades on Existing Pavement	EA	5	\$	1,300.00	\$ 6,500	00 \$	575.00	\$	2,875.00	\$	1,133.00	\$	5,665.00	\$	1,200.00	\$	6,000.
35	661	Traffic Paint (Solvent Based) 4" White Dashed Stripe - Furnish & Applied Measured on Street C/L Stations	LF	1,950	\$	2.00	\$ 3,900	00 \$	0.58	\$	1,131.00	\$	0.62	\$	1,209.00	\$	1.50	\$	2,925.0
36	660, 669	4" SQ. 2-Away Reflectorized White Raised Pavement Markers (Type II C-R) - Furnish & Applied Measured on Street C/L Stations	LF	1,950	\$	0.50	\$ 975	00 \$	0.58	\$	1,131.00	\$	3.09	\$	6,025.50	\$	8.00	\$	15,600.
37	DRAWINGS	Raised Blue Reflectorized Button at all Existing Fire Hydrants, Furnish and Install	EA	6	\$	10.00	\$ 60	00 \$	17.25	\$	103.50	\$	5.15	\$	30.90	\$	12.00	\$	72.
38	660, 661, 669	Traffic Paint (Solvent Based) and Markers needed for Left Turn Bay Including "ONLY", Turn Arrow and 8" Solid White Line - Furnish and Applied	LS	1	\$	700.00	\$ 700.	10 \$	770.50	\$	770.50	\$	154.50	\$	154.50	\$	2,000.00	\$	2,000.0
		Subtotal: Traffic Control Items					\$ 13,035.	0		\$	6,758.50			\$	13,677.15			\$	27,647.0
OJECT B	ID ITEMS SUP	MMARY														_			
	23	Site Preperation and Earthwork Items (Subtotal B	id Item No	os 1-10)			\$ 32,780.5	0		\$	25,375.11			\$	66,680.85			\$	35,982.7
		Paving Items (Subtotal Bid Item Nos 11-16)					\$ 310,161.2	5		\$	329,700.18			\$	315,528.75			\$	338,996.2
		Drainage Items (Subtotal Bid Item Nos 17-24)					\$ 19,928.5	0		Ś	18,650.03			Ś	20,176.67			Ś	24,570.0
		Dialitage items (Subtotal blu item Nos 17-24)					J 19,920.5	0		Ŷ				Ŧ	20)1/010/			Ŷ	= .,
		SWPPP Items (Subtotal Bid Item Nos 25-31)					\$ 15,425.0			\$	16,929.75			\$	17,765.75			\$	17,917.5

433,829.17

\$ 445,113.50

					Tr	Bidde ple B S	er 5 Services		Bidder 6 ed and Company		Average est 3 Bidders	s
Roadway S	Site Preparation	and Earthwork Items										
Item No.	Spec. No.	Item Description	Unit Measure	Unit Quantity	Unit Price		Total in Figures	Unit Price	Total in Figures	Unit Price	Total in	n Figures
1	Drawings	Furnish and Install Project Sign, Complete in Place, in Accordance with the Drawings. and Specifications	EA	1	\$ 1,100.0	) \$	1,100.00	\$ 625.00	\$ 625.00	\$ 839.00	\$	839
2	102, 562	Clearing and Grubbing 1/2 of Existing ROW from STA. 16+90 to STA. 36+35, Complete in Accordance with	AC	2.7	\$ 4,000.0	\$	10,800.00	\$ 5,000.00	\$ 13,500.00	\$ 3,595.38	\$	9,707
3	104	Remove and Dispose Portion of Existing 8" Crushed Concrete L.S. Access Drive at C.L. Station 19+40 Including	SY	47	\$ 3.6	) \$	169.20	\$ 2.00	\$ 94.00	\$ 11.15	\$	524
4	110	Roadway Excavation, Complete in Place, In Accordance with the Drawings and Specifications.	CY	2,300	\$ 2.7	\$	6,210.00	\$ 14.00	\$ 32,200.00	\$ 4.92	\$	11,32
5	DRAWINGS	Loose Stockpile On Project Site, Complete and In Place (Only if Directed by Engineer), Stockpile Location on Sheet	CY	500	\$ 3.8	5 \$	1,925.00	\$ 10.00	\$ 5,000.00	\$ 2.45	\$	1,22
6	132	Embankment (Compacted Fill), Complete and in Place	CY	1800	\$ 4.0	) \$	7,200.00	\$ 15.00	\$ 27,000.00	\$ 2.46	\$	4,43
7	Katy Stds.	Vertically Adjust Existing F.V. Assembly Including adjacent Vavle Box (Only if Directed by Engineer)	EA	5	\$ 540.0	) \$	2,700.00	\$ 450.00	\$ 2,250.00	\$ 240.83	\$	1,20
8	473	Vertically Adjust Storm Manhole Rim to Finished Grade (Only if Directed by Engineer)	EA	5	\$ 225.0	) \$	1,125.00	\$ 450.00	\$ 2,250.00	\$ 189.58	\$	94
9	Katy Permits	2% Non-Refundable Katy Inspections Fee Due to Katy Permits prior to Project Mobilization	LS	1	\$ 11,000.0		11,000.00	\$ 14,000.00	\$ 14,000.00		\$	8,26
	i	Construction Staking, In Accordance with the Drawings and				~	0.000.00			A	ć	2 1 2
10	DRAWINGS	3.	LS	1	\$ 8,600.0	) \$	8,600.00	\$ 5,000.00	\$ 5,000.00	\$ 3,136.33	\$	3,136
	Subtotal: F	Specifications Roadway Site Preparations and Earthwork	LS	1	\$ 8,600.0	) \$ \$	50,829.20	\$ 5,000.00	\$ 5,000.00 \$ 101,919.00	\$ 3,136.33		41,612
10 Paving Item Item No.	Subtotal: F	Specifications	LS Unit Measure	1 Unit Quantity	\$ 8,600.0	\$		\$ 5,000.00		S 3,136.33		41,612
Paving Item	Subtotal: F	Specifications Roadway Site Preparations and Earthwork Item Description	Unit			\$	50,829.20	Unit Price	\$ 101,919.00	Unit Price	\$	41,612
Paving Item Item No.	Subtotal: F ms Spec. No.	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place,	Unit Measure	Unit Quantity	Unit Price	\$	50,829.20 Total in Figures	Unit Price	\$ 101,919.00 Total in Figures	Unit Price	\$ Total in	<b>41,61</b>
Paving Item Item No. 11	Subtotal: F ms Spec. No. 200, 205, 220 221	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications.	Unit Measure	Unit Quantity	Unit Price	<b>\$</b>	50,829.20 Total in Figures	Unit Price	\$ 101,919.00 Total in Figures \$ 39,000.00	Unit Price	\$ Total in \$	<b>41,61</b>
Paving Item Item No. 11 12	Subtotal: F ms Spec. No. 200, 205, 220	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In	Unit Measure SY TON	Unit Quantity 6,500 147	Unit Price \$ 2.6 \$ 180.0	<b>\$</b> 5 \$ 0 \$	50,829.20 Total in Figures 17,225.00 26,460.00	Unit Price \$ 6.00 \$ 151.00	\$ 101,919.00 Total in Figures \$ 39,000.00 \$ 22,197.00	Unit Price \$ 2.67 \$ 174.40	\$ Total in \$ \$	<b>41,61</b> • Figure 17,3: 25,6:
Paving Item Item No. 11	Subtotal: F ms Spec. No. 200, 205, 220 221	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications 7" Reinforced Concrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place Construct Pipe Line Seal Slab for existing DOW Pipe Line	Unit Measure SY TON	Unit Quantity 6,500 147 6,050	Unit Price \$ 2.6 \$ 180.0 \$ 42.5	\$ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	50,829.20 Total in Figures 17,225.00 26,460.00 257,125.00	Unit Price \$ 6.00 \$ 151.00 \$ 75.00	\$         101,919.00           Total in Figures         \$           \$         39,000.00           \$         22,197.00           \$         453,750.00	Unit Price \$ 2.67 \$ 174.40 \$ 39.55	\$ Total in \$ \$ \$	<b>41,61</b> Figure 17,3 25,6 239,2
Paving Item Item No. 11 12 12	Subtotal: F ms Spec. No. 200, 205, 220 221 360	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications. 7" Reinforced Concrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place Construct Pipe Line Seal Slab for existing DOW Pipe Line Crossing Construct Pipe Line Seal Slab for existing Kinder Morgan Pipe Line Crossings (Additional KM Insurance Coverage to	Unit Measure SY TON SY LF	Unit Quantity 6,500 147	Unit Price \$ 2.6 \$ 180.0	\$ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	50,829.20 Total in Figures 17,225.00 26,460.00	Unit Price \$ 6.00 \$ 151.00 \$ 75.00	\$ 101,919.00 Total in Figures \$ 39,000.00 \$ 22,197.00	Unit Price \$ 2.67 \$ 174.40 \$ 39.55	\$ Total in \$ \$	<b>41,61</b> Figur 17,3 25,6 239,2
Paving Item Item No. 11 12 12 13 14	Subtotal: F ms Spec. No. 200, 205, 220 221 360 DRAWINGS	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications 7" Reinforced Concrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place Construct Pipe Line Seal Slab for existing DOW Pipe Line Crossing Construct Pipe Line Seal Slab for existing Kinder Morgan Pipe Line Crossings (Additional KM Insurance Coverage to be Incidental to this itemsee Page 3 of Construction Plans)	Unit Measure SY TON SY LF	Unit Quantity 6,500 147 6,050	Unit Price \$ 2.6 \$ 180.0 \$ 42.5	<b>\$</b>	50,829.20 Total in Figures 17,225.00 26,460.00 257,125.00	Unit Price \$ 6.00 \$ 151.00 \$ 75.00 \$ 575.00	\$         101,919.00           Total in Figures         \$           \$         39,000.00           \$         22,197.00           \$         453,750.00	Unit Price \$ 2.67 \$ 174.40 \$ 39.55 \$ 226.47	\$ Total in \$ \$ \$	<b>41,61</b> 17,3 25,6 239,2 8,1
Paving Item           Item No.           11           12           13           14	Subtotal: F ms Spec. No. 200, 205, 220 221 360 DRAWINGS	Specifications Roadway Site Preparations and Earthwork Item Description Lime Stabilized Subgrade at 8-in Depth, Complete in Place, In Accordance with the Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - Estimated at 45 Ib/SY application but to be finally recommended by a qualified CMT after Proctor Analysis, Complete in Place, In Accordance with the Drawings and Specifications. 7" Reinforced Concrete Pavement with Reinforcing Schedule Per City of Katy Details in Construction Drawings for Commercial Application, Complete and in Place Construct Pipe Line Seal Slab for existing DOW Pipe Line Crossing Construct Pipe Line Seal Slab for existing Kinder Morgan Pipe Line Crossings (Additional KM Insurance Coverage to	Unit Measure SY TON SY LF	Unit Quantity 6,500 147 6,050 36	Unit Price \$ 2.6 \$ 180.0 \$ 42.5 \$ 210.0	\$           \$	50,829.20 Total in Figures 17,225.00 26,460.00 257,125.00 7,560.00	Unit Price \$ 6.00 \$ 151.00 \$ 75.00 \$ 575.00	\$         101,919.00           Total in Figures           \$         39,000.00           \$         22,197.00           \$         453,750.00           \$         20,700.00	Unit Price \$ 2.67 \$ 174.40 \$ 39.55 \$ 226.47 \$ 241.72	\$	<b>41,61</b>

						I	Bidde	er 5		E	Bidde	r 6		,	Averag	e
						Tripl	e B S	ervices		John Ree	ed and	d Company		Lowe	est 3 B	idders
	nage Items				-											
Item No.	Spec. No.	Item Description	Unit Measure	Unit Quantity	l	Unit Price		Total in Figures	L	Jnit Price	т	otal in Figures		Unit Price	Тс	otal in Figures
17	429	Install and Maintain Trench Safety System (From 5 to 10 feet), Complete in Place, In Accordance with the Drawings and Specifications.	LF	49	\$	0.01	\$	0.49	\$	5.00	\$	245.00	\$	0.88	\$	43.28
18	430, 433 and 460	Furnish and Install 24" RCP Storm Sewer (C-76) (Class III) at all depths, Bedding & Backfill including min. 12-in. CSS around all pipe, Complete in Place, In Accordance with the Drawings and Specifications.	LF	49	Ś	110.00	\$	5,390.00	Ś	150.00	Ş	7,350.00	Ś	65.02	\$	3,185.82
19	471	Furnish and Install Standard Depth Manhole on Existing 30" RCP Storm Sewer, Complete in Place, In Accordance with the Drawings and Specifications.	EA	1	\$	3,250.00		3,250.00	ŝ	3,000.00	\$	3,000.00	Ś		\$	2,678.42
20	473	Replace Type 'E' Inlet Top on Existing Manhole with a Standard Rim Top (Only if Field Ordered by Engineer), Complete in Place, In Accordance with the Drawings and Specifications	EA	2	\$	370.00	\$	740.00	Ś	2,000.00	\$	4,000.00	Ś	900.00	\$	1,800.00
21	472	Furnish and Install Stage I - Standard Type 'H-2' Inlet on Existing 24" RCP Storm Lead, Backill including CSS around all of Structure, Complete in Place, In Accordance with the Drawings and Specifications.	EA	4	\$	1,675.00	\$	6,700.00	\$	2,000.00	\$	8,000.00	\$	1,613.58	\$	6,454.33
22	472	Furnish and Install Stage I - Standard Type 'H-2' Inlet, Backfill with CSS around all of Structure, Complete in Place, In Accordance with the Drawings and Specifications.	EA	1	\$	1,675.00	\$	1,675.00	\$	2,000.00	\$	2,000.00	\$	1,285.42	\$	1,285.42
23	472	Furnish and Install Stage II - Standard Type 'H-2' Inlet, Bacfill with CSS around all of Structure, Complete in Place, In Accordance with the Drawings and Specifications.	EA	5	\$	920.00	\$	4,600.00	\$	2,000.00	\$	10,000.00	\$	793.75	\$	3,968.75
24	DRAWINGS	Plug for 24" RCP Storm Sewer	EA	1	\$	635.00	\$	635.00	\$	500.00	\$	500.00	\$	169.05	\$	169.05
		Subtotal: Drainage Items					\$	22,990.49			\$	35,095.00			\$	19,585.07

Item No.	Spec. No.	Item Description	Unit Measure	Unit Quantity	ι	Unit Price	Total in Figures	l	Unit Price	Т	otal in Figures	Unit Price	To	tal in Figures
25	162	Sodding for Erosion Control (One Continuous Row of Bermuda Cut Sod Behind all Curb, 18" minimum depth), Complete in Place, In Accordance with the Drawings and Specifications.	LF	3,825	\$	7.10	\$ 27,157.50	\$	1.00	\$	3,825.00	\$ 2.06	\$	7,866.7
26	165	Hydro-mulch Seeding, Complete in Place, In Accordance with the Drawings and Specifications.	AC	2.0	\$	1,835.00	\$ 3,670.00	\$	1,400.00	\$	2,800.00	\$ 1,536.08	\$	3,072.1
27	713	Reinforced Filter Fabric Barrier, Complete in Place, In Accordance with the Drawings and Specifications.	LF	1,950	\$	1.35	\$ 2,632.50	\$	3.00	\$	5,850.00	\$ 1.58	\$	3,074.5
28	719	Inlet Protection Barrier (Stage 1, With Reinforced Filter Fabric Fence), Complete in Place, In Accordance with the Drawings and Specifications.	EA	10	\$	45.00	\$ 450.00	\$	60.00	\$	600.00	\$ 66.03	\$	660.3
29	724	Stabilized Construction Access (Type 1 - Rock), Complete in Place, In Accordance with the Drawings and Specifications.	SY	75	\$	30.00	\$ 2,250.00	\$	35.00	\$	2,625.00	\$ 13.48	\$	1,011.2
30	741	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags), Complete in Place, In Accordance with the Drawings and Specifications.	EA	10	\$	120.00	\$ 1,200.00	\$	12.00	\$	120.00	\$ 39.58	\$	395.8
31	751	TPDES General Permit No. TXR150000; Notice of Intent (NOI) Application Fee (Contractor's NOI)	EA	1	\$	735.00	\$ 735.00	\$	2,000.00	\$	2,000.00	\$ 626.00	\$	626.0
		Subtotal: SWPPP Items					\$ 38,095.00			\$	17,820.00		\$	16,706.83

							Biddei e B Se	r 5 ervices			Bidder d and	r 6 I Company		Avera est 3 B	ge idders
Traffic Co	ntrol Items														
Item No.	Spec. No.	Item Description	Unit Measure	Unit Quantity	Ur	nit Price	Т	otal in Figures	U	nit Price	To	otal in Figures	Unit Price	Т	otal in Figures
32	500	Remove and Dispose Existing Type III Barricade	EA	3	\$	350.00	\$	1,050.00	\$	100.00	\$	300.00	\$ 122.17	\$	366.
33	624	Aluminum Signs (Ground Mounted)(High Intensity Sheeting) - Furnish & Install	EA	1.0	\$	550.00	\$	550.00	\$	500.00	\$	500.00	\$ 380.08	\$	380.
34	670	Type III Mobile Barricades on Existing Pavement	EA	5	\$	800.00	\$	4,000.00	\$	600.00	\$	3,000.00	\$ 1,002.67	\$	5,013.
35	661	Traffic Paint (Solvent Based) 4" White Dashed Stripe - Furnish & Applied Measured on Street C/L Stations	LF	1,950	\$	1.25	\$	2,437.50	\$	1.00	\$	1,950.00	\$ 1.07	\$	2,080.0
36	660, 669	4" SQ. 2-Away Reflectorized White Raised Pavement Markers (Type II C-R) - Furnish & Applied Measured on Street C/L Stations	LF	1,950	\$	0.25	\$	487.50	\$	1.50	\$	2,925.00	\$ 1.39	\$	2,710.
37	DRAWINGS	Raised Blue Reflectorized Button at all Existing Fire Hydrants, Furnish and Install	EA	6	\$	10.00	\$	60.00	\$	4.00	\$	24.00	\$ 10.80	\$	64.
38	660, 661, 669	Traffic Paint (Solvent Based) and Markers needed for Left Turn Bay Including "ONLY", Turn Arrow and 8" Solid White Line - Furnish and Applied	LS	1	\$	615.00	\$	615.00	\$	1.00	\$	1.00	\$ 541.67	\$	541.
		Subtotal: Traffic Control Items					\$	9,200.00			\$	8,700.00		\$	11,156.8
ROJECT E UB TOTA	ID ITEMS SUN	MMARY													
		Site Preperation and Earthwork Items (Subtotal B	id Item No	s 1-10)			\$	50,829.20			\$	101,919.00		\$	41,612.1
		Paving Items (Subtotal Bid Item Nos 11-16)					\$	337,147.50			\$	584,697.00		\$	318,463.3
											~	35,095.00		ć	40 505 0
		Drainage Items (Subtotal Bid Item Nos 17-24)					\$	22,990.49			Ş	35,095.00		Ş	19,585.0
		Drainage Items (Subtotal Bid Item Nos 17-24) SWPPP Items (Subtotal Bid Item Nos 25-31)					\$ \$	22,990.49 38,095.00			\$ \$	17,820.00		ې \$	19,585.0 16,706.8
		<b>o ( )</b>	3)				\$ \$ \$	,			\$ \$ \$	,		\$ \$ \$	
RAND TO	)TAL BASE BII	SWPPP Items (Subtotal Bid Item Nos 25-31) Traffic Control Items (Subtotal Bid Item Nos 32-38	3)				\$ \$ \$ <b>\$</b>	38,095.00			\$ \$ <b>\$</b>	17,820.00		\$ \$ <b>\$</b>	16,706.8

6

# CERTIFICATE OF INTERESTED PARTIES

FORM 1295

		1
1	ot	1
÷	01	-
÷	UI.	1

				1 of 1
	Complete Nos. 1 - 4 and 6 if there are interested pa Complete Nos. 1, 2, 3, 5, and 6 if there are no intere	ested parties.	OFFICE U CERTIFICATIO	
1	Name of business entity filing form, and the city of business.	, state and country of the business entity's place	Certificate Numbe 2016-42200	r:
	D & J Construction, Inc			
	Richmond, TX United States		Date Filed: 04/19/2016	
2	Name of governmental entity or state agency the being filed.	at is a party to the contract for which the form is		
	Fort Bend County		Date Acknowledge	ed:
3	Provide the identification number used by the ge description of the goods or services to be provi	overnmental entity or state agency to track or identif	y the contract, and p	provide a
	B16-075	ded under the contract.		
	Spring Green Segment 2			
L			In	(-hll'l-l-)
4	Name of Interested Party	City, State, Country (place of business)	Controlling	(check applicable)
L			Controlling	internetiary
Γ				
F				
┝				
L				
L				
F				
F				
5	6 Check only if there is NO Interested Party.	X		
e	6 AFFIDAVIT	I swear, or affirm, under penalty of perjury, that th	e above disclosure is	true and correct.
	NELDA JANET HERNANDEZ MY COMMISSION EXPIRES October 8, 2017 AFFIX NOTARY STAMP / SEAL ABOVE	ntracting business en	tity	
	Sworn to and subscribed before me, by the said 20, to certify which, witness my hand and	day of	April	
	Signature of officer administering oath	Printed name of officer administering oath	P117 Title of officer admini	stering oath

Forms provided by Texas Ethics Commission

Version V1.0.645